FAS s ae ao

FrOTa

P e

(DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO)
T.B.C.: CSP—15/2 L
SerialNo.[ | ] ,244@33 o |
| -~ TESTBOOKLET
GENERAL STUDIES

| .  PAPER-II -
(Time Allowed : 2 Hours : ‘ - (Maximum Marks : 200)

Test Booklet Series

: INSTRUCTIONS TO CANDIDATES : T

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD

- CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST |
BOOKLET OF THE SAME SERIES ISSUED TO YOU.

‘2. Please note that it is the candidate’s responsibility td encode and fill in <the'

Roll Number and Test Booklet Series A, B, C or D carefully using BALL POINT PEN
{with BLUE OR BLACK INK) and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render
the Answer Sheet liable for rejection. - ‘ ' .

3. - You have to enter your Roll No. on the Test Booklet [ - , }

in the Box provided alongside. DO NOT write
anything else on the Test Booklet. :

4. This Test Booklet contains 80 items (questions). Each item (question) comprises four
responses (answers). You will select the correct response (answer) which you want to
. mark (darken) on the Answer Sheet. In case, you feel that there is more than one correct
response (answer), mark (darken) the response (answer) which you consider the best.

In any case, choose ONLY ONE response (answer). for each item (question).

5. You have to mark (darken) all your responses (answers) ONLY on the separate Answer

Sheet provided, by using BALL POINT PEN (with BLUE OR BLACK INK). See
- instructions in the Answer Sheet, ' c

6. (i) Al items (questions) carry equal marks. All items (questions) are compulsory. Your
' total marks will depend only on the number of correct responses (answers) marked
By you in the Answer Sheet. - :

(i) Therewill be negative markings for wrong responses (answers). 25 percent of marks
allotted to a particular item (question) will be deducted as negative marking for
... levery wrong response (answer). ‘ _
~ (iii) if candidates give more than one response (answetr), it will be treated as a wrong
response (answer) even if one of the given responses (answers) happens to be
coitect and there will be same penalty as above to that item (question).

7. Before you proceed to mark (darken) in the Answer Sheet the responsés (answers) to
various items (questions) in the Test Booklet, you have to fill in some particulars in the
Answer Sheet as per the instructions in your Admission Certificate. 7

8.  After you have completed filling in all your responses (answers) on the Answer Sheet and

. after conclusion of the examination, you shouid Hand over to the Invigilator the Answer
Sheet. You are permitted to take with you the candidate’s copy/second page of the Answer
Sheet along with the Test Booklet, after completion of the examination, for your reference.

9 Sheets for rough work are appended in the Test Booklet at the end.

(DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED T0 DO S0)




—

~—

————

Direction (Q. Nos. 1 to 10) : Read the
following two passages and answer the
questions that follow each passage. Your

‘answer to these questions should be

based on the passages onily.
Passage — 1.

Comprehensive lifestyle changes including

a better diet and more-exercise can lead

not only to a better physique, but also to

| swift and dramatic changes at the genetic

- level, as U. S. researchers advocate re-

cently. In a smali study, the researchers

tracked thirty men with low-risk prostate

cancer who decided against conventional

‘medical treatment such as surgery and
“radiaticn or -hormone therapy. The men

underwent three months of major lifestyle
changes, including eating a diet rich in

fruits, vegetables, whole grains, legumes -

and soy products, moderate exercise such

as walking for half an hour.a day, and an -

hour of daily stress management methods

such as meditation. As expected, they lost

weight, lowered their blood pressure and

' experienced other health improvements.

~ The researchers ascertained more pro-

found changes when they compared.
prostate biopsies taken before and after
the lifestyle changes of these men. After

~ the three months, there were changes in

‘activity in about five hundred genes of each
of these men including forty eight that were

~ turned on, and four hundred fifty three
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- genes that were turned off. The activity of

'diéease-préventing genes incréased while

" a number of disease-promoting genes,
‘including those involved in prostate cancer
“and breast cancer, shut down, according

to the study published in the journal,

Proceedings of the National Academy of

Sciences..

Thé 'research was led by Dr. Dean Orniéh,

head of the Preventive Medicine Rese_arch

Institute in Sausalito, California, and a well--

known author advocating lifestyle changes

to improve health. “It's an exciting finding

because so often people say, ‘Oh, it's all
in my genes, whatcan | do ?’ Well, itturns

out you may be able to do a lot,” Ornish, -

who is also affiliated with the University of

~ California, San Francisco, said in a tele-

_;jhone interview. ‘In just three months, |
can change hundreds of my genes simply -~
by changing what I'eat and how ! live 7"~

- That’s prefty exciting,” Ornish said. “The
* implications of our study are not limited to

men with prostate cancer.”

" Questions on Paséage -1

1. ‘.Thé main focus of the article is that a
“healthy lifestyle :

N (A)  Can help all cancer patients

(B) Can alter our genes for the

better |
(C). Has no effecton our genes

(‘D‘)' Can cure cancer . -

Contd.
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2. Apart from eating healthy food and
- QXercising,the men in the study:

(A)- Were taught techniques to
handle tension '

(B) Were ‘put under various

stresses

(C) Were given animal protein to

~ lose weight .

(D) Déveloped healthy physique
3. Intotal, genes changed as
. aresultof the healthy lifestyle.

(A) 48 |

(B) 453

- {(C) 30

(D) 500
4.  Thiswas what happened to some of

the disease-causinggenes: =

(A) Their activity ihcreased

(B) Their activity ceased

(C) There was litile change in their

activity

(D) These genes helped in

removing cancer

5. Which of the following is NOT.

- mentioned in the article ?
{A) Pajcients undergoing standard
treatment. '
(B) Patients losing weight
(C) Patients experiencing lower
blood pressure
(D) Patients were helplesswith
regard to their genetic acfivities

UW - 2A/20

'PaSSa_ge -2
There is still no cohsensu‘s about how the
Neanderthals were driven to extinction,
leaving oﬁf Homo Sapie'hs ancestors

without any competition. The ..

disappearance of the native European |

Neanderthals is odd partly because their
shorter, stockier bodies must have made
them better able to withstand the colder

temperatures that prevailed when their

cousins from Africa entered Europe.‘ With _
a smaller surface area, the Neanderthal
bo_dy.would-héve been able to retain more

~ heat. The once common aésumption that
the key was the inferior vocal abilities of
the Neanderthal has since:been disproved -

by research on the Neanderthal hyoid
bone, located in the throat. The larger skull
capacity and, thus, the larger brain is .

another fespect in which they no longer

seem to have beeninferior.

kK was 'once thought that proof of a 'superior

intellect was to be found in the narrower

.-Homo Sapiens stone tools known as

‘blades’, which were assumed to be more

- efficient than the broader ‘flakes’ used by
‘the Neanderthals. In-a nu mber of important -

~ways, including durability, this idea has

- proved to be unfounded. However, the

blades would have been more effective as
tips for throwing spears whereas the stone |

 flakes would have been limited to the kind

(Turn over)




of thrusting spears the Neanderthals are
believed to have used. This Qould have

- combined with the greater' égility of the
Homo Sapiens to give them a distinct’

advantage in hunting in open terrain. .

. Crucial in this respect were the larger
canals in the Homo Sapiens inner ear,
providing a more acute sense of balance,
in addition to the longer imbs and Iightér

“build. The Neanderthal technique of hiding

and lying in wait for passing animals
ceased to be viable when the dense
forests of Eufope began to recede. After a
‘period of co-existence with their cousins,
the Neanderthals were slowly eraditcated.

Questions on Passage ~2 :-

6.  According to the passage, what is

now beiieved about the stone tools
used by the Neanderthals compared
_ tothose of the Homo Sapiens?
(A) They were at least as long
"~ lasting '
(B) They could have been used as
better spear tips |

{C) They'were longer and narrower

(D)
capacity
7. The passage states that the
Neanderthals relied on the dense
forests :

They indicate a superior mental

(A} Toprovide cover when hunting -

- (B) Forfirewood and shelter

UW — 2A/20 - L
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(4)

(©)
(D)

(B)

(©)

(D)

(C) To provide wood for spears |

(D) To hide from their attackers

The hydid bone is evidénce of :

- (A) - A capacity for language

(B) An ability to adapt to a cold

climate

Brain capacity

The inferior anatomy of the
Neanderthal -

The Neanderthals were wiped out: .
(A) Befofe the Homo Sapiens
arrived _
(B) Inbattles with their opponents
(C)

(D)

After the climate changed
Due to their primitive social
- organization |

Acco‘rdihg to the passage, which of
. the following is NOT an older

assumption that has now been cast

‘indoubt ?

(A) - Neanderthals were
considerably less intelligent
than Homo Sépiens_ |
The Neanderthals evolved first
in Africa |

Flakes were inferior to blades
inall respects  +
Neanderthals had very poor
communication skills |

. .Contd,;
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“You are a member of the executive

councii of a community and find that

- most of the inmates are unreasonable
and do things that do not take

cognizance of the perspectives of

others. In spite of your well-intentioned -

effort to enrich their perspective
taking, there is very little improvement.
What would be the most appropriate
course of actionforyou?

(A) Wait until the term of the

executive council is over and

. not be & member of the next

executive council

(B)

Keep you'rseif engaged in

community welfare activities -

' mdepewdent of whether it is
appreciated by others

(C). Assertively place your views

and make the inmates agree-

wnth your wewpomt

- Lower down your mvolvement
in community affairs -

You find that a friend whom you
believed for so long is a self-centered
person and has no respect for others’

perspectives. The best course of

" action for you to take is :

(A) Dissociate yourself from your
friend

Send him for a special training
“on perspective taking .
(C) Tell him_
perspectives in order for you to
.continue the relationship
Continue your relationship while
trying to be empathetic to his/
her feélings

(D)

Tell him to correct his/her’

(5)
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A person is sharing his life problems
and experlences with you and
expects that you actlvely listen to him.
In order for you to give him the feeling -

~that you are actively Iistening, the -

most appropriate course of actlon for

- youwould be':

(A Share your life experiences
with him ‘
Express astonishment over

(B)

what has happened to him

(C) Paraphrase his utterances

(D) Offer y‘our.'point of view while
~ the conversation proceeds

Your team has been given an
important project to comp!ete Tweof .
your team members do not pull on
well with each other. You feel that the
project cannot be completed in time
as the involvement of both of them is

' important. What would you do ?

(A) Warn each of them of the diré
consequences if they do not

“work in cooperation |
Drive both of them out of your
team énd- assign the responsi-

 bilityto other employees

(B)

Forget about them and cérry
“out'the work on your own

Hold a conversation with both
of them by being sensiti_ve to
their viewpoints '

(Turnover)
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< 16.
. maintaining good inter-personal -

o

17.

(B)

- (©)

Your. neighbour has the habit of -

playing loud music which disturbs
you. You have brought the problem
to his attention but without any

- positive outcome. You should :

(A) Play loud music to give him a
feeling of how disturbing it can

. be

Complain to other neighbours

' 'about‘the'disturbing nature of -

this neighbour’s behaviour

(C) " Carry an open discussion with
him to appreciate the problem
and try for an amicabie solution

(D) Close all the doors and
windows of your home to lower
down the noise impact

Which of the following is important for

relationship in community living.?
(A)

affairs
(B)

welfare
- community get-togethers

individual need

While working for an NGO, you have.

differences of opinion with one of

UW —2A/20

Contributing to community.

Taking a lead role in community -

Enjoying and being happy in

Rendering help in times of

(6)
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©

B

©)

“-your juniors on a proposal prepared

by him and to be submitted for
funding immediately. Your junior is

- trying hard to justify hIS views. You

would :

(A) Tgall him to" stop justifying a

. proposal based on wron'g
‘information |
 Ask him to write the proposal
" as you would want it to be
Revise the proposal on your

Cown

(D) Hold a meeting of the team

‘mates to convince him that he
iswong |

While filling up several forms in an

_office, a visitor complains aboutthe
bureaucratic procedure which slows

down the functioning of the

Govemment machinery. How can you
" best respond to the visitor 7 -

‘(A) Suggesthimto write a Ietter to

the office boss

Telt him the reasons why your
office needs the mformat[on in
7 wr[tlng

tell him anyfhing

‘Tell him that his application

o cénnot be processed if he
| ~does not fo!low rules |

Contd. -
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(B) |

~Yourimmediate boss did not intimate

you the deadline for completing a
task. As a result the task was not
completed in time and the top boss

- asked you for an explanation. What

would be the first and the most'

appropriate thlng todo?

" the sntuatson and send itto the
top boss

Withhold your answer and seek
an appointment with the top

boss to explain the situation
(C) Put the responsibility on your
immediate boss to explain the

situation
(D)
immediate boss

You are attending a very ‘_forr‘nal

f'r_neet-ing of equals in your office
called to discuss the innovative

changes in the governance system.

tuming outto be irrelevant and boring

and members are arguing out on

 petty issues W|thout reaching a

conclusron What would be your most

_befitting course of action ?

- (A) Try to persuade others to

UW - 24/20

postpone the meeting

- (A) Draft a written reply to explain -

21.

Admit your fault to save the

-You find that the discussions are

(7)

©

©)

(D)

®

(B) Leave the rneetmg tellmg them
that you ‘have an urgent.
: t_elephone callto attend to.
Get involved in the meeting and
. help members to focus on the
issues of ihterest
Sit through the me:eting ,.
~ because it would be impolite to
leave i

You are appointed as the new Head -
of a Government Department and

find that many employees have got

into the habit of coming late to the’

office. What should youdo ? .

(A) Circulate an official letter
stating that you are aware of
the late ‘comers, _whose

| 'behaviour eannot be excused .
hencefonh_, |
Tell your immediate sUbordi-
nate to look into the matterand
circulate a notice for the

* defaulters
Cali the defaulters to your office |

- chamber and warn them of
serious consequences |
Call
employees and. show your |

(D) a meeting of the

 displeasure to the defaulters

('Turn'over)
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23.

- (B

Your boss rebukes you in the .

presence of others. You think you are

not at fault and his action is based .

~on the information given to him by
. one of your juniors to whom the boss

appears to be oversympathetic.
What should you do ?

your junior to the boss

Meet the boss when you find
him cool to know the reasons
for disapproval

(B)

(C) 2
- before the management
committee of the institution
(D)

Ask for a written explanation
from your junior -

You are the head teacher of a
Government school. One student tells

- you that his friend saw a lizard from

the roof falling onto the food being
cooked. What would you do
lmmedlately ?

(A) Ask the cook to stop cooking

and not serve the food to
_students

Write against the cook to
higher authorities about his

(A) Lodge a compiaint against -

Bring in writing the entire incident

carelessness _ ,

(C) Taste the food yourself to find
out if what the student was
teiling was true -

(D) Cali the school management

- committee meeting to inform

' members about cook’s

carelessness ‘
UW—2A/20
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(B)

(®)

(©)

24, You are the Director of an institute. A

group of angry workers created
turmoil over a petty issue and rushed
to your office to see you. You
became apprehensive and thought
that they may aggressively deal with
you. What would do ? _' | o
(A) Askthem io meetyou afteran

. hour

Call the higher authontles
- seeking their protection

(C) Pass on the message to them

that they submit their
grievances in writing ‘

(D) Askthemtoassembieina hall

" and hold talks with them

Critical reading of a text is a very"
“demarding process. It requires the

reader io read the text slowly and

. mark his thouights' and comments on

the text using a pencii.: Reading is

-active engagement with the text.’
- Which of the following statementsis

logically best supported by the
paragraph given above ?

" (A) Critical reading requires the

readers to evaluate the truth
- value of what they read.

ICntlcal readxng is a slow, dull,
but demanding process,
Critical rééding requires careful
attention. , .
Critical reading can happen

-only when the person makes
marks onthetext.

(D)

Contd.
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(D)

(B)

©

Though Yoga, now-a-days, has -

become popular, it may not be

suitable for everyone. Before getting

admitted into a Yoga center, it is
better to examine what you want for

your fitness. If you want high energy -

aerobic exercises, Yoga may not be
a good choice for you.
Which of the following statements is

paragraph given above ?

" logically best supported by the

(A) Before admission into a Yoga -

center, think of your needs and .

preferencés. -
Yoga keeps the body and mind
- fit ‘ ‘
C)
than aerobic exercises.

majority of people.

Yogais certainly more popular

“Yoga is not a good choice for -

Three statements are given in each

_of the alternatives. Assuming the

statements to be true, even if they are
not supported by common
knowledge, select the alternative in

which the third statement logically -

~ follows from the first two statements.

(A) - All houses are insured. All

buildings are insured. Some
. buildings are houses..
Allmonkeys can jump. All cats
are monkeys. Al cats can jump.
All mangoes are yeliow. Some
oranges are mangoes. All
oranges are yellow.

“All lions are timid. All Ieopdrds
are timid. Some leopards are

(C)

" lions:

UW —2A/20
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- 28.

29.
- conclusions numbered as | and IL.

(D)

A
- (B
(©

Three statements are givenin each .

of the alternatives.. Assuming the
statements to be true, even if they are

‘not supported by ‘common

knowledge, select the alterative in
which the third statement logically
does not follow the first two state- -

. ments.

(A) All actors are rich. No rich
person is humble. All actors are
~ nhothumble.

(B) All men can swim. No animali
can swim. Man is not an animal.
All dogs live in cities. Green

. forests are in cities. All dogs
live in green forests.

Some actors are not polite. Al

. actors are humbie. Not all
humble persons are polite.

©)

Two statements are followed by two

Assuming the statements to be true,

. even if they do not conform to

commonly known facts, decide which
of the conclusions logically follows
from the given statements and
choose your answer from the options
given. -

| Statements : (1) Some tables are chairs.

(2) All chairs are desks.

- Co'ncl_usions : (I) No table is a desk.

(ll) Some desks are
tables.
Only conclusion ([) follows
Only conclusion (i) follows
Both (1) and (1) follow
(D) - Neither (I) nor (II) follows

(Turh over)




30 Three statements are followed by

31.

three conclusions. numbered asl, i

and lll. Assuming the statementstobe -

* true, even if they do not conform to
" commonly known facts, decide which

of the conclusions logically follows -

from the given statements and choose
your answer from the optlons glven

) Only conclusion (I) follows
Only conclusion (1) follows

) Conclusion (1) and (II) follow .
Conclusion () and (IIf) follow -

Three statements are followed by

- three conclusions numbered as |, 1l
" and lll. Assuming the statements to be

true, even if they do not conform fo
commonly known facts, decide which

Statements : (1) All trees are
- - ~ mountains.
(2) All mountams
. are forests
(3) All stones are
, mountains. |
~ Conclusions: (I) Some forests .
are stones. '
() No stone is a
forest. -
(i) Some forests
. are trees.

of the conclusions logically follows .
from the given statements and choose

* your answer from the options given.

Statements (1) Some dogs are
animals.

(2) Some animals are

~ cats. .
(3} Some goats are
' animals.

UW — 2A/20

= Conclusions: (I) Some dogs are

32.

33.

English%

- (B)

(©)
(D) 18 .

. persons

(B)

cats. -

() Some cats are not
animals.

(Il No cat is a dog.
Only conclusion (I) follows
Only conclusion (1) follows
Either (1) or (ll) follows
Either (1) or (Il) follows

(A)

(C)
(D) _
How many rectangles are there in the

following figure (count all the possible
rectangles) ? ‘

A 7
(B)
16

In the three intersecting circlés'given

“below, the numbers in different

sections indicate the number of
speaking different
languages. How many persons speak
only two languages ?

6% <—Hindi

<— Odia

13
17
11

23

(C)

Contd.'-"
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The numbers in the following figures -

follow a pattemn: Find the numbef
which will replace the question mark.

51 le] = |4
7 |44(6 4 136|5 917?13
' 4 3 6
(A) 69
(B) 68
L (©) 72
. (D) 88
40. A four-member state-board of
experts is to be selected from among
the following eight persons.
() ‘Femaie Lawyer:
(i) Male Educationist
' (iii). Male Social Worker . -
~ (iv) Female Legistator |
(v}  Female Doctor
(viy Male Businessman
(vii) - Female Writer
(viil) Male Journalist
The selection is to be made with the
following conditions : .
(1) Thewriterand the"educaﬁbhist
' cannot be selected together.
(2)  lfthe social worker is selected;
the businessman wiil also be.
. selected. _ :
(3) The lawyer and the doctor
' - cannot be selected together.
(4). lfthere is the 'jou_rna!ist in_ the
team, there must also be the
doctor.
- UW-2A/20

" If there would be at least iwo women-
in the team, the team would consist
of: o - : -
(A (vil), (i, (v), (i)

(B) (1), (iv), (v), (viii)
(C) (i), (viii), (v), (vii)

(D) (viii), (v), (iii), (vi)
Direction (Q. Nos. 41 & 42) : The
criteria for selecting a Marketing Officer
for a company are given below.

The candidate : |

(1) Must be a graduate with at least.
55% of marks. S

{2) Must have secured at least 50%

* in the written examination.

(3) Must not be less than 25 years

~ andmore than 30 years as on 1st
August, 2015.

(4) Should have work experience of
at least 3 years as an officer.

However, if a candidate :

(5) Fulfils all other criteria except at
(3) above but belongs to SC and
has a diploma in marketing,

“his/her case is to be referred to
~ the General Manager, HR. "

(6) Fulfils all other criteria except at
(3) and (4) above, but has worked
as a Marketing Manager at least
for 1 year, his/her case is to be
referred to the Director, HR.

Giveni below are the profiles of candi-

dates in the Q. Nos. 41 & 42. Based

on the criteria given above and with-

out assuming any additional informa- -
tion, you have to take a decision in.
each case and mark your answer by
choosing the appropriate alternative.

(12) _ ' . Contd. -




34. Given below are the two positions of

35.

36.

2
6
(C) 5
3

a die numbered 1 to 6 on different

faces. Which number is on the face
opposite to the face containing ‘1”2

)

(A
®)

(D)
Four word—pa'irs are given below out
of which three are alike in some

~ .manner and one is different. Which

is different from the rest ?

(A) Purse:Money =

(B) Séhool :Classroom

(C) Hour: Minute

(D) Word : Letter

Which of the Vén_n- diagrams best
indicates the relatiqnships among the
following three items.

Lions, Deer, Marmmals

UW — 2A/20

| 37

Study the diagram give.n below. What
is the sum of numbers which belong

to two figures only ?

| R 5.

'38.

® o
) 12
D) 13

The statements given below specify
~ the relationship between different

- elements. ‘Study the relationship,

decide which of the conclusions is

“true and choose your answer from

the alternatives.

Statéments‘ :()P>Q2R=8 |

(2)X<Y=Q<T
Conclusions () Y <P<T |
Iy T>S

(A) | Only condusion () istrue

+ (B) Onlyconciusion (II) is true

(11)

(C) Both (i) and (II) are true

(D) Neither (1) nor (Il) is true -

(Turn over).
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(©)

0

(A)

®

Amit was born on 20th August, 1988

“and is now a graduate with 58% of

marks and has secured 62% in the

~ written test. He has been working as

an officer for the last four years. What

decision would be taken for Amit ?

(A)
B)

He would not be appointed

‘appointment

His case is to be referred to the
‘General Manager, HR .

His case is to be referred to the
Director, HR

Neeta is-.a graduate woman
candidate with a diploma in
marketmg She has secured 57%
and. 55% in graduation and in the
written test, respectively. She was

-born on 21st July, 1991. She has
- been working .in a company as a
" marketing manager for the last two
~years. What decision is to be taken

for Neeta * ?
She would be selected for
-appointment '
- She would not be appointed "
- Her case is to be referred to the
General Manager, HR ~
" Her case is to be referred to the
‘Director, HR

(C)

©)

ashram of a pretentious and

dishonest religious leader and there

is fear that the ashram inmates would

be thrashed. As the District

Magistrate you would : |

(A) Use police force to dlsperse the
crowd

He would be selected for

44,

An angry mob is approaching the

(13)

(B)

(©)

D

Arrest the religious leader to
satisfy the mob |
Inform the Home Minister of the -
State and act as per his order
as there may be a political
. ‘angle to the demon_strationl

(€)

Maintain = your .
orientation and not interfere
until a formal complaint has

been lodged

(D)

Secular |

You are a Tahasildar. Some people -
 have told you about a person in your

office who takes your name to
indulge in corrupt practices. You are
shocked because you believed in his:
honesty. He has shown his .

commitment to work by completing
the work in time, even if it comes to

wbrking late after office hqurs. You
now want to verify the truth of what

,peopie'say You would

(A) Call'him to your office and ask-
him if what peop!e tell about him -
is true'and then warn him

Change his nature of work and
‘minimize your interactions with
him- ' '

®)

Stay back in the office beyond
* office hours to catch him when
he accepts bribe

Take the help of a trustworthy
person to offer him bribe and
check if people’s opinion is true

(Tum over)




Direction (Q Nos 45 to 47) Read the
mformatron given below.

Ina unrversﬁy the student must satisfy
the following conditions for being
awarded a Bachelor’s Degree

"~ (1). The. student should . have a

\ mrnrmum attendance of 65% in all
the semesters. ‘

He/she should have aminimum

@)

- of 55% aggregate marks ineach ] .

~ semester and his/her overall

- aggregate of all théeeemeSters .

. should be 65% or more.

(3) i his/her aggregate in any

. semester is less than 55% butthe
average of any two consecutive

semesters is more than 55%, the .

‘Pr|n0|pal can condone |t and

he/she will pass.

He/she must have_subn'litted the
project report and secured not
less than 60% in the project.

- orless due to medical reasons, it

If the attendance is short by 15% .

-can be condoned by the Principal.

®)

fthe studenthas scored'less than'

65% in overall aggregate, the

Director can condone it provided
that he/she is not held back for
attendance and has secured

~ more than 75% in project and the
student will pass.

UW —2A/20

(14)

45,

46.

(A

(D)

Sambhav has scored the following
aggregate percentage of marks in6
: semesters.
15t sem 64%
2" sem " 59% |
3"sem 66%
4% sem 58%
5% sem . 54%
6" sem 71%
Overall aggregate 62%

He fell sick during 4 semester and
had only 55% attendance. He has
scored 78% in the project.

- What decision will be taken for

Sambhav ?

He erI not be awarded the
degree. _ L
He will be awarded the deg ree
‘without any condoning .
He will be awarded the degree
after the Principal condones the:

-shortage of percentage of
attendance

- He will be awarded the degree
only after both the Principaland
the Director condone the
violations: -

(B)

(C)

Neeta has scored the following
aggregate percentage of marks in 6
semesters.

1%tsem 57% -
2" sem 58%
39 sem - 61%
4P sem 57%
51 sem 60%
6N sem 61%
Qverall aggreg ate 59%

Contd. .
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(D)

What decision will be taken for

Neeta ?

{A) She will not be awarded the

degree
(B)
than 60%, she will pass after the
Director condones shortage of
overall aggregate percentage
provided that she is not

If her project mark is not less

held back for shortage: of

attendance

(C) The Principal can condone the

shortage of marks only if Neeta -

has more than 60% in the
prOJect

~and any form. of condoning
would not be'necessary

Sabnam has 58% attendance and

has scored the following aggregate

- marks in different semesters.

15t sem . 63%
2" sem ) '58%
3" sem  61%
4Msem 53%
5" sem 65% °
6t sem 66%
Overall aggregate 61%

What decision will be taken for

. Sabnam ?

(A).  She will not be awarded the
degree as none of the
“authorities can condone the
) vno!atlons

She will be awarded the degree |

L

48.

(15)

o

(B) She will be awarded the degree

after the Principal condones the
shortage of marks only if
- Sabnam has 60% or more in
~ the project and produces a
medical' certificate for .her
- sickness
(C) If her project mark is not less
than 60% and she can produce
a medical certificate for her
sickness, she will be awarded .
the degree after the Director
and the Principal condone the
 violations
She will be awarded the degree
and any form of condoning
would not be necessary

“You are the District Administrator. A
* woman meets you and complains of

domestic violence in her in-laws

‘famiily. Her lodging of an FIR in the
‘local police station was not accepted

because of some kind of political
pressure. Which would-be the best
course of action for you ?

(A) Callherin-laws andwarn them -
not to indulge in any v1olence
with the woman as it is
punishable under law and work

- for an amicable settlement |

‘between both parties |

Suspend the police officer and

take her to the nearby

government hospital for a

medical examination

(B)

~ (Tumnover)




49.

- 50.

(A)

(Cy Ask the ‘police officer of her

local police station to register

her complaint and get her-

medically examined in a
government hospital -

(D)

Ask her to bring a report from - |

- the government hospital as a -

proof of physical injuries
~ caused by domestic. violence

so that a complaint can be

reglstered '

a circular table facing each other. No

. two boys-or no two girls are sitting

side by side. A is to the immediate

" right of E, who is facing G. F is

'Four boys A, B, C and D and four
" girls E, F, G and H are sitting around

between D and B. If D is facing C, o

who is sming to the immediate rlght
of G?

H
B) B
©) F
@) C

In an examination, a student gets 3

marks for every correct answer and

* loses 0.5 marks for every wrong

answer. If there are 100 questions

and the student attempts all and
secures 188 marks, the number.of

questions the student has wrongly
answered is:

(A) 32
(B) 22

UW -2A/20

(16)

51.

92.

53.

©
©

(D)

(C) 26

(D) 42

All boys in a class are asked to stand
inacircle. They are all evenly spaced

and the 11th boy is diametrically |

opposite to the 24th boy. How many

" boys are there in the class ?

(A)
(B)
(C)
(D)

30
28
26
24

A teacher has a few pens to be
distributed in different packets. If 2
or 3 or 4 pens are put in each packet,
the teacher is left with one pen.
However, if 7 pens are put in each
packet the teacher is left with 3
pens. Whatis the minimum number
of pens the teacher has for
distribution ? -

(A) 97
(B) 122
.52_
73

Seven persons are standing in a line.
A's to the left of G. There are two
persons between B and C. Cis to
the right of F and left of A. G is
between D and A. Wha is exactly in
the middle ? E

@ C

B) A
© E
F

* Contd.



54.

55.

56.

. 57,
~ her house. Then it takes one left turn

LW 24/20

- D)

. {B)
©
(D) Si_ster' :

12 men can complete 12times of a
work in 12 days by working 12 hours

- aday. How many hours a day would

- (B) South-West

8 men have to work to complete 8 .

- times of the same work in 8 days ?

4 hrs

8hrs
12hrs
18 hrs

(A)
(B)
(C)

Bis married to D, sister of E. Ais the

58,

father of C, who is the son of E. Fis

the sister of C. Howis F related toB?
(A) Sister-in-law
Nephew
Niece

The numbers in each group are

related in a certain way. Choose the

- correct number from among the .

alternatives that will replace the'_

_ question mark..

[5(13)12]  [24 (26) 10] [8 () 6]
(A) 9
(B) 10
©) 12
D) 14

Sneha’s school bus picks her up from

and two right turns to reach her

59.

school. If the school bus is facing

South- East when it reaches the

school wh:ch direction was the bus

facing at Sneha’s home ?
(A) North-East |

(17)

~ of the sign ¢ 7

Z

e:z

(C) North-West
(DY North

The first two figures on the left of the
sign *: - are related.irt a certain' way.
The same relationship holds good for
the second pair of figures to the right )
one of which is
mlssmg Find the missing one from

- among the alternatives.

LN

& f.'

The clock shows the time 12 Noon
when the hour and minute-hands are
one above the other. After how many
minutes (nearest integer) will the two -
hands be again Iymg one above the
other.

(A) 70
- (B) 62

(C) 65
(D) 67

(Turmover)




60,

If you write the numbers from ‘1" to
100", how many times you have to
write the digit‘1 ? -

1.5 1
1.4

. 05

- (B) 8
€ 9

(D) 10

Direction (Q. Nos. 64 to 68) : The
following line graph gives the ratio of the
amounts of imports by a company to the
amount of exports from that company
over the period from 1995 to 2001.

Ratio of Value of Imports to Exports by a

Company over the Years.
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64.

(A) 20 -
(B 1
€ 21
D) 12
61. If the arithmetic mean of three
~ ‘numbers is equal to 5 and their
standard deviation is -zero, the
numbers are :
" (A) 4,5,6
(B 357
{C) 5,5,5
(D) 1,5,9
62. A student reaches his schoo! 5
" minutes late if his speed from his
house to the school is 5 kmvhr. If he
~walks 6 km/hr, then he reaches
school 5 minutes early. The distance
. of the school from his houseis: .
(A) 4km | |
(B) 5km
(C) 6km
D) 3km
- 63. -Acancompiete a piece of workin 8" -
' days. B can complete the same work
in 12 days. Both Aand B started the
work and-after 2 days Aleft the work.
In how many days the work will be
. completed ? |
(A) 7
UW — 2A/20

(18)

@

- (©

H L
1995 1996 1997 1998 1999 2000 2001
Years -

If the imports in 1998 was Rs. 250
¢rores and the total exports in the
years 1998 and 1999 together was
Rs. 500 crores, then the imports in
1999 was : |

Rs. 250 crores
(B) - Rs. 300 crores
Rs. 357 crores

(D)

Rs. 420 crorés

| “Contd. | '



65. The imports were fniriimurﬁ Direction (Q. Nos. 69 & 70) : A school
propomonate to the exports of the - has four Séctions —A, B, C, DofClass IX

company in the year : , students. 'The resqlts of half yearly and
' . annual examinations are shown in the
(A) 1995 - - A
R . table given below :
{B) 1996 - 7_ ) " No. of students
(C) 1997 L e - | Section A { Section B | Section C [Section D
_ Students falledin | 28 . | . 23 7 | 27
(D) 2000 both Exams. ' _ :
. . ' ' . | Students fafled in | 14 2] 8 | 13
- 66. What was the percentage increase | “balfyearly but ' '
; , . _ | passed in Annual
in imports from 1997 to'1998 ? : Exams. -
R ' _ Students passedin| 6 17 9 15
(A) 72 ‘ T | hatf-yearly but :
. _ failed in Annual
(B) 86 o ) o Exams.
‘(,C)' '28_ o | smggrtzhts :sl:gd in | 64 55 | 45 | kS
(D) DataInadequate N 89, If the number of students passing an -
 67. [Ktheimports ofthe company in 1996 | . examination be considered acriteria
was Rs. 272 crores, the exports from - for comparison of difficulty level of
thecompanyin1996was: g examinations, which of the
(A) Rs. 370_ crores _ | N followmg statements is true in thlS
(B) Rs.320 crores ' - context ? | |
(C) Rs. 280‘crqrés | N Y .Half‘yearl'y examinations weré
(D) Rs.275crores = more difﬁcult
68. In howmanyofthegaven yearswere (B) Annual examinations were
the exports more than the lmports’? - " more d‘ff'CU" - |
(A) 1 - . (C) Both the examinations had
B) 2 - |  almostthe same difficulty level
© 3 o | (D) The two examinations cannot
(D) 4 ; S - ~ be compared’fordifﬁcultyIevel'

Cuw-za20 o (19) -~ (Tumover)




70. How many students are there in

- Class IXin the school ?
(A) 336 |
(B) 189
(C) 335
' (D) 430
Drrect:on (Q. Nos. 71 to 80) The
following ten questions are based on two
passages. Read:each passage and
answer the questions that follow.
' Passage — 1
Usha, a friendly 40 years old with an enor-
- mous smile, can pinpoint the exact day her

community stopped being one of the
untouchable castes, untouchability being

abolished by law in 1950. Stili, manually -

" cleaning the dry toilets by them continued
wellinto the 21st century, and still they were

" not accepted by the socuety as clean hu-

man beings.
It was 2003, and Usha was on her way 1o

work when Bindeshwar Pathak stopped |

her. She recalls being amazed that a

“nicely dressed” man would even speak:

with someone like her : a manual cleaner
of dry toilets. As such, it was her job to
" clean human waste, by hand, from homes
that lacked flushing toilets in her town in
Rajasthan.

Dr. Pathak asked her why she covered her
face with her shawl and why she seemed
ashamed to talk to him. At the time, Usha

had no idea she was speaking to the man

- whose mission it was to end manual’

cleaning and who would eventually change
her fife. '

UW — 2A/20

Pathak founded an organization called

Sutabh in 1970 to wipe out manual
- cleaning by replacing unplumbed toilets

with affordable flushing ones, and by giving

‘cleaners training for other jobs. -
“Shopkeepers would drop the rice to me —
they wouldn't touch me,” Usha retnembers,
losing her smile fora moment. “And they -
- made me put my money down, away from
| them. They threw water over it before

taking it.”

Today, she eamns aliving seihng homemade
pickles and embroidered cloths

Manual scavenging was banned in India

“in 1993, by a law that forbids the

construction of dry toilets and requires
existing ones to be destroyed. But in India,

such laws terid to be implemented slowly.
There are probably several hundred |
thousand manuai cleaners still working. A -

recent survey found there were over 1 ‘000
in Delhi alone: ltis high time we use ﬂushlng
toilets and bring an end to the undlgnmed

 practice of manual cleaning. -

Questions on Passage —1:
71. Thepassageis about_';_.__.
(A) Sulabh
(B) Usha
(C) human dignity
(D) untouohability :

Contd.
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72. The goal of Sulabh, an organization

founded by Dr. Pathak, is to

(A) eradicate poverty in India
(B) endmanual cleaning
(C) train péoplé for otherjdbs
(D) help womer to eam a Ilvmg

73. Although manual cleanmg was
officially banned in India in 1983,

A nothing has been done to

timplement this ban

(B) the ban has not been fully
~ implemented

(C) manual cleaners do not getany
compensatlon

(D) manual cleaners cannot go to
- school

74. Usha says that shopkeepers

scavenger.
{A) werenice to her
(B) would give her free rice
(C) .wou.ld nottouch hér'
(D) give her money N

75. According to sorhe estimates, the
number of manual scavengers still
working in India is
(A} over 100,000
(B) " atleast 1,000
(C) under 100,000
(D) notknown

UW = 2A/20

.when she worked as a

Passage 2

Today, millions of people want to learn and
improve their English but it is difficult to find
the best method. Alsp, the question arises
if it is better to study English in Britain or
America or to study the language in your

~ own-country.

The advantages of studying Engllsh in

Britain or Amerlca seem cbvious. Firstly,,
"you will be able to listento: thetanguage-all

the time in those countries from native
speakers. You will be surrounded
completely by the language wherever you

'go. Another advantage is that you have to

speak the language wherever you need to
communicate your thoughts and ideas, to
express your feeling, and to seek and give
information. In India, on the other hand, it

. is always possible 1o use your mother

tongue to fulfil all your communication
purposes. As a resuit, your learning and

using of English happens only in the

Englishclassin school, and so iearning the .

. language becomes slower.

However, there are also advantages of
staying at home and learning English. You
don’t have to make big changes to your
life. As well as this, itis also a lot cheaper
than going to Britain or America but it is
never possible to achieve the same results
as living and learning English in the UK or
the USA. If you have good English teachers
in India, you can learn the language in a
more concentrated way than being in
Britain or America. -

(Turn over}




So, if you have enough time and money,

the best choice is to spend some time in
the UK or the USA to learn English like a

_native speaker. But this is simply not

possible for most people, so learning the
language here in India is a good option as

learning opportunities are plenty, most .

educated people use the language for

different purposes, and there are a large

- number of excellent speakers of the
" language. The most important thing to do
in this situation is to maximise your
opportunities : listen to. good English

programmes on TV, speak only English in-

class and try to use English whenever
possible outside the class.

Questions on Passage — 2:
76. Thetextis about
(A) how most people learn Englrsh
(B) ‘the best way to learn Englrsh rn
o India
(C) leaming Engiish in England and
- America _
(D) the options available to learn
English better

77. Oneofthe advantages of going to the
UK orthe USAto learn English is that

- (A) no Indians speak their
language in those countries
(B) thelanguage schools there are
. better :
(C) you will have to speak English
and not your language most of
. thetime

79. Péople who don't have a lot of time -

78. One of the advantages of learning
English in India is

(A) your life can continue more or

_ lessthe same as you learnthe

Ianguage :

(B) 'theteachersare not very good |

in Britain or America

(C) you have to work too hard in
Britain or America

(D) you can achieve the same

Tesults as living and learning

English in the UK or the USA

and money should
(A) learn English with native
speakers
© (B) try and speak English like
native speakers
(C) be surrounded completely by
- the language wherever they go

(D) use English as much as they-

can rn listening and speakmg

'80. The opportunities for learnrng Engllsh

(D) there are many native speakers

- there

in India can

{A) - be very less ' _

(B) be availed in school classes
very well

" (C) be availed _thr_ough different

sources

(D) be availed through coachrng 3

classes

UW — 2A/20
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